YERL |'08-10-21 VM. AA| 2 | A [09-3-6 &, AAK
R [l &

R EETEE (FUh—k W)

[ SR MBS M6 T 4541 (200548 B ARE L 4—) O
525 (REDBE) DT H—RILFDBEHEHRIEIL TR D,

1. iEg= | TAFS—1=vh |
2. %= | CA—P3550F |
3. #3848t (KIEY451681 S0R)

(HHBEE(GEEEE)W= |  3800ke X 98m/s2 ~ 1000 = |  37.2/kN

(2) 7Uh—HK I b (LFZ)

DA% n= ES
Q%R =M 12
Q@—ARH =Y DEMTEE (FFRIC LB HEE) A=  1.130|cm2
@O IRELBEE R -IGADEIRYEZITHHBIDT AR VMRS
Nt=| 5K
BIFEAMFTEIVEFREOETOSS Hg= 67.4|cm
(A)BETTBAREMSRI=FIWFANY L= 184|cm

(B)RREFTHAAM L RI-K ML ELFETOER
Le=|  86.3|cm(Lg=L/2)

4. REtEtE
(1) EZRETRKEEE Kh=| 1.0 FEHIMEE g=9.80665m/s2
(2)ERETREEEE Kv=Kh/2=| 05

(B)ERETHAKTEHE D Fh=KhxW=| 372 |kN
(4)EEtFHASREHE D Fv=KvxW=| 186 |kN
(B)TUh-KWDEIEREN Rb
Rb={Fh-Hg— (W—Fv)-Lg}./ {L-Nt}
= | 098JkN
(B)TUuh—KILDEBABA Q
Fh./n=[  3.72]kN
(7)7Uh—KWMZET B NE
DBI-RUIEHE o
0=Rb/A=| 087 kN cm2<ft=17.6kN.”cm2
QEAMWIEHE ©
T=Q/A=|  329/kN./cm2<fs=10.1kN,”cm2
@B|oRY EFAMERIFFIZZITSI5E
fts=1.4ft—167 = 19.4|N/cm2
o=| 087kNcm2 < fts = | 194 |kN.”cm2
(8)7Uh—K WDRET & (BER B EaRET-ETEd R33W)ESELLT,)

OQFUh—FMEIER = hERIEERTON— |
@avy)-tEES= | 150 mm

QR I DIBHAAES= 90| mm

@FRSIEREN Ta= 9.20 kN > Rb=[  0.98/kN

ULDORELY, FUi-KFMI+REREERT S,
Lk

CGC—00096 — 46A




